



MOTIF ON $(x^2 - y^2)(Ax^2 + Ay^2 - (2A - 2)xy) = (2A + 3)(X^2 - Y^2)Z^5$

S. SRIRAM and S. KAVITHANANDHI

Assistant Professor, National College
 (Affiliated to Bharathidasan University)
 Tiruchirappalli, India
 E-mail: sriram.priya02@yahoo.com

Research Scholar, National College
 (Affiliated to Bharathidasan University)
 Tiruchirappalli, India
 E-mail: kavitha.anandhi@yahoo.com

Abstract

Astonishing values of x, y, X, Y, Z in two dissimilar techniques of the seventh degree diophantine equation $(x^2 - y^2)(Ax^2 + Ay^2 - (2A - 2)xy) = (2A + 3)(X^2 - Y^2)Z^5$ are perceived. Some engrossing connections between x, y, X, Y, Z and unusual numbers namely pronic, triangular, 4-dimensional figurate, and polygonal numbers are conferred.

Symbols worn:

$(Pr)_a$: Pronic number of rank $a = a(a + 1)$

$(Tri)_a$: Triangular number of rank $a = \frac{a(a + 1)}{2}$

$(4DF)$: 4D figurate number $= \frac{a^4 - a^2}{12}$

$(PenPy)_a$: Pentagonal Pyramidal number of rank $a = \frac{a^2(a + 1)}{2}$

$T_{m,n}$: Polygonal numbers of rank n with sides

2010 Mathematics Subject Classification: 11D09.

Keywords: Seventh degree - five unknowns, numeral values, polygonal, pyramidal 4D figurate number.

Received February 25, 2020; Accepted July 31, 2020

$$m = n \left[1 + \frac{(n-1)(m-2)}{2} \right]$$

$$(\text{Ptope})_a : \text{Pentatope number of rank } a = \frac{\alpha(\alpha+1)(\alpha+2)(\alpha+3)}{24}.$$

1. Establishment

In the field of Mathematics, Number theory has an extraordinary and remarkable place in the era of research. Solving Diophantine equations of any degree is a challenging one [1-3] in number theory. There are dissimilar kinds of diophantine equations such as exponential, surd, logarithmic equations solved by mathematicians around the world [4-12]. One of the alluring Diophantine problem, to find the values of x, y, X, Y, Z in this paper is $(x^2 - y^2)(Ax^2 + Ay^2 - (2A - 2)xy) = (2A + 3)(X^2 - Y^2)Z^5$. Some engrossing connections between x, y, X, Y, Z and unusual numbers namely pronic, triangular, 4 dimensional figurate, and polygonal numbers are conferred.

2. Description of Method

Contemplate the seventh degree equation with five unknowns

$$(x^2 - y^2)(Ax^2 + Ay^2 - (2A - 2)xy) = (2A + 3)(X^2 - Y^2)Z^5. \quad (1)$$

Launching the linear modifications

$$x = u + v, y = u - v, X = 2u + v, Y = 2u - v \quad (2)$$

in (1), arrives

$$u^2 + (2A - 1)v^2 = (2A + 3)Z^5. \quad (3)$$

2.1. Motif I

$$\text{Motif on } (x^2 - y^2)(Ax^2 + Ay^2 - (2A - 2)xy) = (2A + 3)(X^2 - Y^2)Z^5.$$

Let us hold of

$$Z = a^2 + (2A - 1)b^2 \quad (4)$$

where $a \neq b$.

Take $2A + 3$ as

$$2A + 3 = (2 + i\sqrt{2A - 1})(2 - i\sqrt{2A - 1}). \quad (5)$$

Utilize (4) and (5) in (3) applying the resolving activity, we have

$$(u + i\sqrt{2A - 1}v) = (2 + i\sqrt{2A - 1})(a + i\sqrt{2A - 1}b)^5.$$

After specific algebraic computations and clarify, we obtain

$$\begin{aligned} u &= (2a^5 - 5(2A - 1)a^4b - 20(2A - 1)a^3b^2 + 10(2A - 1)^2a^2b^3 \\ &\quad + 10(2A - 1)^2ab^4 - (2A - 1)^3b^5) \\ v &= (a^5 + 10a^4b - 10(2A - 1)a^3b^2 - 20(2A - 1)a^2b^3 \\ &\quad + 5(2A - 1)^2ab^4 + 2(2A - 1)^2b^5). \end{aligned}$$

This replacement of u and v in (2) the solutions of equation (1) is, as follows

$$\begin{aligned} x(a, A, b) &= (3a^5 - [10 - 5(2A - 1)]a^4b - [30(2A - 1)]a^3b^2 + [10(2A - 1)^2 \\ &\quad - 20(2A - 1)]a^2b^3 + 15(2A - 1)^2ab^4 + [2(2A - 1)^2 - (2A - 1)^3]b^5) \\ y(a, A, b) &= (a^5 - [10 + 5(2A - 1)]a^4b - 10(2A - 1)a^3b^2 + [10(2A - 1)^2 \\ &\quad + 20(2A - 1)]a^2b^3 + 5(2A - 1)^2ab^4 + [(2A - 1)^3 + 2(2A - 1)^2]b^5) \\ Z &= a^2 + (2A - 1)b^2. \end{aligned}$$

3. Inspections

Case (i):

3.1. Choose $a = 0; A = 5; b = 1$

1. It is scrutiny that all $x(a, A, b), y(a, A, b), X(a, A, b), Y(a, A, b)$, are negative and $Z(a, A, b)$, is positive numbers.

2. $x(0, 5, 1) - y(0, 5, 1) - X(0, 5, 1) + Y(0, 5, 1) = 0$

3. $Z(0, 5, 1)$ is a perfect square.
4. $6Z(0, 5, 1)$ is a nasty number.
5. $x(0, 5, 1) + y(0, 5, 1) + X(0, 5, 1) + Y(0, 5, 1) \equiv 0 \pmod{9}$.

Case (ii):**3.2. Choose $a = 1; A = 1; b = 1$**

1. It is scrutiny that all $x(1, 1, 1), y(1, 1, 1), Y(1, 1, 1), Z(1, 1, 1)$ are positive and $X(1, 1, 1)$ is negative.

2. The succeeding forms a nasty number.

(i) $x(1, 1, 1) + X(1, 1, 1)$

(ii) $Y(1, 1, 1) + Z(1, 1, 1)$

3. $x(1, 1, 1) + X(1, 1, 1) + Z(1, 1, 1) = y(1, 1, 1)$

4. $y(1, 1, 1) = 2Y(1, 1, 1)$

5. $x(1, 1, 1) + y(1, 1, 1) + X(1, 1, 1) + Y(1, 1, 1) = 9Z(1, 1, 1)$

6. $x(1, 1, 1) + y(1, 1, 1) + Z(1, 1, 1)$ is a perfect square.

Case (iii).**3.3. Choose $a = a; A = 8; b = 1$**

1. $x(a, 8, 1) + Y(a, 8, 1) = y(a, 8, 1) + X(a, 8, 1)$

2. $6Z(a, 8, 1) - 90$ is a nasty number.

3. $Z(a, 8, 1) - a^2 \equiv 0 \pmod{15}$

4. $Y(a, 8, 1) - x(a, 8, 1) + 4275 = 2755 (pro)_a - 1140(4DF)_a - 2755a$

5. $2x(a, 8, 1) - X(a, 8, 1) = a(pro)_a^2 + 24(ptope)_a + 108(4DF) - 314(PenPy)_a - 58(Hep)_a + 1032a + 450.$

4. Motif II

From equation (3) we have $u^2 + (2A - 1)v^2 = (2A + 3)Z^5$, alternatively

$$u^2 + (2A - 1)v^2 = (2A + 3)Z^5 * 1. \tag{6}$$

Take 1 as $1 = \frac{[(A - 1) + i\sqrt{2A - 1}][(A - 1) + i\sqrt{2A - 1}]}{A^2}$ switch in (6) and apply the procedure, as in motif I we have

$$(u + i\sqrt{2A - 1}v) = \frac{1}{A} (2 + i\sqrt{2A - 1})(a + i\sqrt{2A - 1}b)^5 [(A - 1) + (i\sqrt{2A - 1})].$$

Equating real and imaginary parts yields, u and v as in the succeeding expressions

$$u = \frac{1}{A} [-a^5 - 5(2A - 1)(A + 1)a^4b + 10(2A - 1)a^3b^2 + 10(2A - 1)^2(A + 1)a^2b^3 - 5(2A - 1)^2ab^4 = (2A - 1)]$$

$$v = \frac{1}{A} [(A + 1)a^5 - 5a^4b - 10(A + 1)(2A - 1)a^3b^2 + 10(2A - 1)a^2b^3 + 5(A + 1)(2A - 1)^2ab^4 - (2A - 1)^2b^5]$$

substitute u and v in equation (2), and the replacement of a by A_a , b by A_b , the integral solutions of equation (1) are as follows:

$$x(a, A, b) = A^4 \{ Aa^5 - 5[(2A - 1)(A + 1) + 1]a^4b + 10[(2A - 1) - (A + 1)(2A - 1)]a^3b^2 + 10[(2A - 1)^2(A + 1) + (2A - 1)]a^2b^3 - 5[(2A - 1)^2 - (A + 1)(2A - 1)^2]ab^4 - [(2A - 1)^3 - (A + 1) + (2A - 1)^2]b^5 \}$$

$$y(a, A, b) = A^4 \{ -(A + 2)a^5 + 5[1 - (2A - 1)(A + 1)]a^4b + 10[(2A - 1) + (A + 1)(2A - 1)]a^3b^2 + 10[(2A - 1)^2(A + 1) - (2A - 1)]a^2b^3 - 5[(2A - 1)^2 - (A + 1)(2A - 1)^2]ab^4 + [(2A - 1)^2 - (2A - 1)^3(A + 1)]b^5 \}$$

$$X(a, A, b) = A^4 \{(A-1)a^5 - 5[2(2A-1)(A+1)+1]a^4b + 10[2(2A-1)-(A+1)(2A-1)]$$

$$a^3b^2 + 10[2(2A-1)^2(A+1)-(2A-1)]a^2b^3 - 5[2(2A-1)^2 - (A+1)(2A-1)^2]$$

$$ab^4 - [(2A-1)^3(A+1) + (2A-1)^2]b^5\}$$

$$Y(a, A, b) = A^4 \{-(A+3)a^5 - 5[2(2A-1)(A+1)-1]a^4b + 10[2(2A-1)-(A+1)(2A-1)]$$

$$a^3b^2 + 10[2(2A-1)^2(A+1)-(2A-1)]a^2b^3 - 5[2(2A-1)^2 - (A+1)(2A-1)^2]$$

$$ab^4 - [2(2A-1)^3(A+1) - (2A-1)^2]b^5\}$$

$$Z(a, A, b) = A^2[a^2 + (2A-1)b^2].$$

5. Inspections

Case I:

5.1. Choose $a = a, A = 1, b = 0$

1. $x(a, 1, 0) + y(a, 1, 0) + 2aZ(a, 1, 0) + 24a(4DF) = 0$
2. $6Z(a, 1, 0)$ is a nasty number.
3. $y(a, 1, 0) - x(a, 1, 0) = Y(a, 1, 0)$
4. $x(a, 1, 0) + y(a, 1, 0) + Y(a, 1, 0) - 6aZ(a, 1, 0) = -6a(pro)_a^2$.

Case II.

5.2. Choose $a = 1, A = 1, b = 1$

1. $y(1, 1, 1) + Z(1, 1, 1) = Y(1, 1, 1)$
2. $y(1, 1, 1) - Z(1, 1, 1) = a$ nasty number.
3. $x(1, 1, 1) Z(1, 1, 1)$ is a perfect number.
4. $x(1, 1, 1) + y(1, 1, 1) + X(1, 1, 1) + Y(1, 1, 1) - 3$ is perfect square.
5. $Y(1, 1, 1) - X(1, 1, 1) = x(1, 1, 1)$

Case III:

5.3. Choose $a = 1; A = 1; b = b$

1. $5y(1, 1, b) + X(1, 1, b) + 200b + 15 = 600(\text{ptope})_b - 150(\text{Sqpy})_b - 25(\text{Hex})_b$
2. $6\{Z(1, 1, b) - 1\}$ is a nasty number.
3. $X(1, 1, b) + Y(1, 1, b) - 2[x(1, 1, b) + y(1, 1, b)] - 160b = 120(4DF)_b - (240)b(\text{Tet})_b + 320(\text{PenPy})_b - 320(\text{Tri})_b$.

6. Termination

In this work, we have remarked various procedure of ascertaining limitless non-zero integer values to the non-homogeneous seventh degree Diophantine equation

$$(x^2 - y^2)(Ax^2 + Ay^2 - (2A - 2)xy) = (2A + 3)(X^2 - Y^2)Z^5.$$

One may make an effort to notice non-negative solutions of the above equations in diverse technique together with their similar inspections.

References

- [1] L. E. Dickson, History of theory of number Vol.11, Chelsea Publishing Company, New-York (1952).
- [2] L. J. Mordell, Diophantine equation, Journal of Science and Research 3(12) (2014), 20-22.
- [3] Ivan Niven, Herbert S. Zuckermann and Hugh L. Montgomery, An Introduction to the Theory of Numbers, John Wiley and Sons Inc., New York, 2004.
- [4] P. Jayakumar and K. Sangeetha, Integral solution of the homogeneous biquadratic Diophantine equation with six unknowns: $(x^3 - y^3)z = (W^2 - p^2)R^4$, International Journal of Science and Research, Vol(3), Issue 12, December 2014.
- [5] P. Jayakumar and K. Sangeetha, On the non-homogeneous heptic equation with five unknown $(x^2 - y^2)(9x^2 + 9y^2 - 16xy) = 21(X^2 - Y^2)Z^5$, International Journal of Science and Research 3(11) (2014), 3163-3165.
- [6] P. Jayakumar and K. Sangeetha, On the non homogeneous Heptic equation with five unknowns $(x^2 - y^2)(5x^2 + 5y^2 - 8xy) = 13(X^2 - Y^2)Z^5$, The PMU Journal of Humanities and Science 55-59, January-June 2015.

- [7] M. Manjula, M. A. Gopalan, S. Vidhyalakshmi, On the non-homogeneous heptic equation with five unknowns $(x^2 - y^2)(4x^2 + 4y^2 - 6xy) = 11(X^2 - Y^2)Z^6$, International Conference on the Mathematical Methods and Computation (2014), 275-278.
- [8] M. A. Gopalan and G. Sangeetha, Parametric Integral solution of the heptic equation with five unknowns $x^4 - y^4 + 2(x^8 + y^8)(x - y) - 2(X^2 - Y^2)Z^5$, Bessel J. Math. 1(1) (2011), 17-22.
- [9] M. A. Gopalan and G. Sangeetha, Integral solutions of m th degree non-homogeneous equation with three unknowns $a(x - y)^2 + xy = [1 + (4a - 1)k^2]^n z^m$, South East Asian J. Math. and Math. Sci. 9(3) (201), 33-38.
- [10] S. Manju, V. Sangeetha and M. A. Gopalan, Integral solution of the non-homogeneous heptic equation with five unknowns $(x^3 - y^3) - (x^3 + y^3) + z^3 - e^3 - w^3 = 2 + 5(x - y)(z - w)^2 p^4$, International Journal of Scientific and Research Publication 5(1) (2015).
- [11] M. A. Gopalan and G. Sangeetha, Parametric integral solution of the heptic equations with five unknowns $x^4 - y^4 + 2(x^3 - y^3)(x - y) = 2(X^2 - Y^2)z^5$, Bessel Journal of Mathematics 1(1) (2011), 17-22.
- [12] M. A. Gopalan and G. Sangeetha, On the heptic Diophantine equation with five unknowns $x^4 - y^4 = (X^2 - Y^2)z^5$, Antarctica Journal of Mathematics 9(5) (2012), 371-375.